3. Entlaubet ist der walde

(Thomas Stoltzer) Hans Newsidler

= rrrror|rr o rrlg Pt/

a
O +Q0 4 1L +04 4 2L 2 @ +04, or a

[ b b a 1b 3Q 20 1b

2 T a a

a V3 alle | 2 a se

N
\

[T FFﬁpF [T I A e e e N B A

O X a PYe) 2 a 2 a +£. 4O or
2 40 a { 1Q f a
a 40 40 O 1b a 30 4 +b a a
a or 2 A 2T a or
Frrr o rrr rrrrgl | T TT Fﬁﬁffm
a aa @a2r O 4Pa 40 2F A _D2r Dor a
f 4€ 1Q1b 30 a FEYe) 1b 10 40 40
b 40 a — 40 e 4 10 30 1b 10 +b 30 =

Ein Newes Lautenbiichlein, v.2 (1544), f.d4. Encoded by Rainer Boldhaus; edited by Sarge Gerbode.




